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OL ofs2h vie (2 8%)
011, 4,1,4

021, 3
031,236

041, 7

051, 2 4,8
061,39

071, 2, 5, 10

081, 2 4,8, 16
091, 2 3 4,6 8 12, 24
101, 3, 9, 27

11 30, 40

125, 10, 15, 20, 25, 30,
35, 40, 45, 50

137, 14, 21, 28, 35, 42,
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16 11, 22, 33, 44

17 12, 24, 36, 48

18 15, 30, 45
19 18, 36

20 20, 40

of

02, 259t 4 (2e 97)

.

I

01 2’ 39 5’ 7, 11’ 137 17’
19, 23, 29, 31, 37, 41,
43, 47

02 x
03 O
04 x

—p—

06 O 081, 3,5, 9, 15, 45
07 O 091, 2, 5, 10, 25, 50
08 O 101, 7, 11, 77
09 x 111, 2,2, 2
100, ©, ® 1213
132, 5
03. AA5AF @g10%) 1437
01 @3, X417 153
02 ©:2, A4 10 162, 7
03 : 10, 114 3 172,35
04 ¥: 13, A% 2 183,55
192, 5
05 ‘é:%, 2|48 ’
207, 11
06 ‘?E‘% A4 3
07 2:2, A$in
05, 291588 (2) (28 12%)
08 ¥:a, A4 x
01 25, 5, 5°
093,73
02 25, 5, 5°
10 5*
03 25, 5, 5°
112
1\ 043, 5
12 (==
<11> 05 70, 35, 7, 7
23 2
1327 06 70, 35, 7, 7
2% 3¥x
142X 07 70, 35, 7, 7
15®@ 085, 7
099, 3, 3°
04. 2Q14-E3] (1) (22 1%) 10 2°x3
011,21, 2 11 2°x5
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352°x3°x5
36 2'x3x5
3715,5,5,5
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392 7
402, 3, 7
412, 3,5, 7
427,77, 7, 14
43 2

44 2

45 10

46 7
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021, 10, 25, 50

031, 3,9, 18, 36, 72, 144
041, 5, 25, 55

05 6, 24, 6, 24

061, 3, 5,9, 15, 45

07 1, 2, 4, 5, 10, 20, 25,
50, 100

081, 2, 4, 5, 8, 10, 16,
20, 32, 40, 80, 160

07, 215239t 2] 74

@EE 172)
013, 8
02 15
03 16
04 12
05 24
061, 8
078
08 4
09 10
10 24

08, -ZOk40} X2k
EE 18%)
01M1, 2 3 4,6, 12

5, 6, 10, 15

’

02(1)1, 5,7, 35

@1, 2, 4, 11, 22, 44

04 O
05 x
06 x
07 O

086

09, HThzor 7817]

(22 19%)
012, 3
02 2x3°
03 3
045
052x3
06 3°
07 2°x7
08 2
09 2x5
10 2°
113, 3, 12
12 4
134
14 16
152
165
17 24
18 18
199
207
213,53, 6
22 4
236
24 16

257

26 12

27 8

28 18

29 2

306

312,18, 2,9, 18
321, 2

331, 3

341,24
351,2,4,8

s Ty Hy

361,2,3,4,6,12

s Ty Yy Ty Yy

371,27, 14

s Zy Uy

381,3,5,15

391, 2

401,2 3,4,6,12

s Ty Yy Fy Yy

10, 2R 2] A -2ufS

(2 23%)

01(1)3, 6,9, 12, 15, 18,

(2)6, 12, 18, 24, 30, 36,

02 (1) 10, 20, 30, 40, 50,
(2) 15, 30, 45, 60, 75,

(3) 30, 60, 90, -

036, 12, 18
04 12, 24, 36
059, 18, 27
06 10, 20, 30
07 18, 36, 54

0838

1. #A-Fula 7] (22 242
012 35
02 2°x 3’
03 2°x3°%x5
04 2°x 3 x5
05 2°x3*x5
06 2°x3*xX5%7
07 2°x3x7*x 11
08 2°x3x5
09 2°x5°x7
10 2'x3*x5
113, 3, 72
12 12

13 20

14 24

15 40

16 60

17 120

18 96

19 120

20 60

215, 5, 80
22 12

23 24

24 36
2570

26 48

27 60

28 72

29 24

30 84
3136, 5, 3

329
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336
345
353
36 4
373
38 2
398
40 2

12, 2|40 FE- (2 28%)
0136, 3,12, 7, 9
02 6 cm

03 8cm

04 7cm

05 75, 5, 25, 5, 15
06 6 cm

07 7cm

08 6 cm

09 100

1020

1120

12 40

13 op

14 72, ok

15 5ok 8

13, 22 ZuH40] T (23 203
01 3, 15, 5, 60

02 30 cm

03 24 cm

04 70 cm

05 90

06 90, ZHl4=
07 H23H3, 180

08 =i

09 20

10 20, 4=

11 FA&3ui4, 140, 20
12 36

13 ==

14 36, ZHj5

15 H2F94 180

16 5

17 16

18 =i

19 16, Fuis=

20 HAFHl, 80

21 15, T

22 21, v

23 34, 15

24 F2Fuj5, 15, %

14, 2|ThZOR50} 22 T3]

A (22 33%)
012, 3, 15, 5, 12
02 120
03 1440
04 1440
05 4, 48
06 600
07 972
08 72
095

OL B%.5 71A] 4 (28 38%)
01 +, +50000
02 —100001
03 +30cm
04 —12cm
05 +73

06 —2%

07 +15%

08 —2%

09 +5%

10 —15%

11 +2

12 +5

13 +11

14 +1

15 +10

16 —1

17 —7

18 —10

19 —4

20 —20

02. 50t R34 (22 30%)

01 +20,9, +10, 5, +6, 16

02 —4, —21, —7

03 —4, +20, 9, 0, +10, 5,
—21, +6, —7,16

04 +13, +4,2, +2, +12

L, 6 ., _6
05 —2, -2 —71, -8

06 +1.3, —2,0, =3 +4,

2z _6
2, +5, —7.1 +12, —

2 54 _6
07 +1.3, +Z, —7.1, =

08 O

09 O

10 x

110

12 x

130

14 O

15 X

16 sjd 2=

17 sfd =

18 s 2=

19 s 2=

20 +2, —3, —5
21 —4, +4, +1

S
27

0 5

22 + .

25 -2, —1,0, +1, +2, +3
26 —4, =3, —2, —1
270, +1, +2

2811

03, MU (e 422)
017

0211

03 100

049

05 50

06 72

07

NI

08 3.4

o
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09 11.9

10

~3o0

112

1241
132
14 48
15 50
16 99
170
184
19 16

20 64

21

w|oo

2245
23123

24 54.3

25

o[

26

SRS

27 3.14

o 4 1L 3
28 —9, +4, — .0
29 4

30 —1,1

31 —

w|on
w|on

320
33 —7,7

34 —5,5

35 —

oo
oo

36 —4.9,4.9
371, 3
382

39 16

40 3
41 4
1
AZZ
7
437
44 6.2
45 —2, 0, 2
46 —3, —2,—1,0,1,2,3

[ B e )

47 —3,—2,—1,0,1,2,3

48 0

49 —2,—1,0,1,2

50 —1,0,1
516, 3,3
52 —1,1
11

53 _?,?
77
34—,

55 —2.4,24
77
56 —%, 3

04. 59| tha THA| (g 46%)
01 <
02 >
03 >
04 <
05 >
06 >
07 <
08 <
09 >
10 <
11 >

12 >

13>, >, >

14 >

15 <

16 >

17 >

18 <

19 >

20 <

21 >, <, >
22 <

23 >

24 >

25 <

26 >

27 >

28 <

29 >, >, <, <
30 —2.5<0< +3.4
31 —9<—3<+1

143
32 —5<g<5

337.5<7.9<8

T 99
34 —p<—2<—3

350

36 —9
37 -9
3885

Lo 9oL
39 =9, =5, 0, 7,85

3
4OI
41 x> —3
42 x<%

43 x>3.8

a4 xﬁ—%
_1 e
45 5 <zx< )

8 8
]l <l -
46 3STS—%

A7 —1.2<x<0.3
48 0,1
493,4,5/6,7,8,9

s T Ve My T My

50 —5, —4, —3, —2, —1,
0,1,2

515
52 —3,—2,—1,0

5311, 12, 13, 14, 15

54

ro|on

z
2

oo

’ s

’ s s

4578
3333

05. R-259] QAT (22 50%)
01 +4

02 —4

03 +3

04 —2, —3
05 +2

06 —2

07 -1

08 +2, +1
09 +, +6
10 +10

11 +38

12 +12

13 +7

14 +19

15 +11

16 +10

17 +9
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18 +13
19 +18
20 +27
21 +48
22 +74
23 +67
24 +70
25—, —12
26 —7
27 —4
28 —11
29 —9
30 —17
31 —17
32 —15
33 —18
34 —33
35 —26
36 —30
37 —30
38 —84
39 —56
40 —55
41 —, —6
42 —3
43 —4

44 —2

51 —2
52 —9
53 —21
54 —5
55 —38
56 —40
57 +, +2
58 +3
59 +2
60 +6
61 +2
62 +6
63 +6
64 +2
65 +5
66 +5
67 +6
68 +3
69 +8

70 +24

76 +5.5
77 +4.56

78 +10.7

81 —7

82 —5.3

—p—

83 —21
25
84 —Z
]
85 —, —3
2
86 +%
2
g7 -2
88 +2.2
89 +5.4
5
9 —2
_ _5
o1 —, —, 3 —3
_2
92 —2
5
93 +2
94 +0.4
95 —3.11
96 0

06. Sl Thek A3t

EE 51%)
01 +10, +1, g 2%

02 —1, —1, —7, —4, Wg,
2%

03 -2 —% -1, +1
04 —2.4, —1, 40.125
05 —1, —7, +3

06 +3

07 +4

08 +2

09 —8

10 —4

1, 2
2 %

11 — 3

2
12 +§

130

3
14+
15 —0.5

16 —0.1

07. 2142 WA (2e 50%)
01 —4, —1
02 —5

03 —6

04 +5

05 —4

06 +4

07 +1, —2
08 +2

09 —2

10 +4

11 -3

12 +20

13 +1, +3
14 +11

15 +11

16 +13

17 +20

18 +19

19 —8, —10
20 —3

21 -8

22 —9

23 —7

24 —55

_5 41
25 -2, +3

_7
26 —

o



27 +5

28 +1.4

29 -3

30 -1

31 +12, +3
32 —1
33—+

34 —08

35 —=

36 —2

37 +1, +3
38 +2

39 +3

40 +8.3

4 +5
a2+

a3 -3, —2
44 —1

a5 —%

46 —8

a7 -2

a8 -2

08, CIAlT} wlAIO] S8} AL

01 —3, —3, —9, —38

#E1TETL001~032 201510138 2P MT?| %7

03 +5
04 +11
05 -3
06 —4
07 —15
08 +1
09 —1
10 +4
11 +2
12 +13

5 1
13 +5, +2, —3

14 -1

13
15 —5~
B)
16—
7
17 +4

18 +3

19 —56, —12.7
20 +2

21 —8.1

22 —0.1

23 —55

24 —14

25 —5 —2

26 +8

27 —7

28 +3

29 —11

30 —7

31 411, +21, +19
32 —10

33 +1

—p—

34 -2
35 +1

36 —1

5 .3
37 +2, ++
38 —4

11
39 —45

1
40 ++
41 —=

42 +3
43 —62, —15
44 +0.7
45 —0.9
46 +0.9
47 +5.4

48 —4

01 +, +12
02 +21
03 +12
04 +32
05 +45
06 +48
07 +60
08 +77
09 +70
10 +55
11 +60
12 +120

13 +62

14 +120

09. 9249 JA (2= 672)

15 +60
16 +200
17 +, +12
18 +15
19 +40
20 +36
21 +24
22 +12
23 +45
24 +56
25 436
26 +50
27 +180
28 +30
29 +250
30 +88
31 4200
32 +55
33—, —72
34 —18
35 —28
36 —16
37 —10
38 —30
39 —56
40 —50
41 —55
42 —40
43 —240
44 —44
45 —45
46 —99
47 —42
48 —540
49 —, —30
50 —4

o
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51 —30
52 —12
53 —40
54 —21
55 —45
56 —28
57 —63
58 —56
59 —36
60 —26
61 —150
62 —44
63 —70
64 —200
65 +, +=

66 +6

67 +4-
68 +2

69 +10

70 +2
N+
72 +4
73+, ++
74+
75 +3

76 +6

5
79 +§

13
80 +?
81 —, —38
82 —4
83 —5

54
84 -5
85 —24

17
86 20
87 —4

2
88 5

-1

89 —, 26

56
90 -5

4
91 3

3
92 5

3
93 o5

5
94 ST
95 —15

1
96 30

10, B0l thet At 8

(g 73%)
01 +10, +30, 23 AF
02 +2, +2, —8, —56
03 +20, —140, ¥ A%
04 —6, —6, +30, +360
05 —, 3, —60
06 +54
07 +40

08 —120

—p—

09 —120
10 +60
11 =70
12 —27
13 +30
14 +400
15 —7
16—
17 —24
18 +4
19 —, —1
20 +1
21 -1
22 +1
23 +4
24 —4
25 —25

26 +1000

27—, ++

28 —+

20 —-L

30 -

31—

32 -2

33—

34 +2

11 2350 WAl (g 762)

01 +, +12

02 +4

03 +8
04 +2
05 +3
06 +9
07 +4
08 +3
09 +, +16
10 +9
11 +6
12 +3
13 +8
14 +4
15 +13
16 +25
17 —, =2
18 —5
19 —6
20 -3
21 -8
22 —2
23 -8
24 —13
25 —, —4
26 —7
27 -3
28 —4
29 -3
30 —6
31 —21

32 —2

12. 98|59 Al (n 78%)

1
01 +¢

o
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—p—

3
02 +3
03 —+

04 —2
051

06 —1

10 —3

—
—r
1foo

12 —10

13

o=

14—+
15 —2

16 +2, —2
17+

18 +<

19 +2

20 -2

21 -2

23 +3

24 +322

25 +-2

26 —20

27 —16

1
28 +§

1
29 —

15
30 +T

13. FA3 2 Aol & A

L4

(EZ 80%)

01 _87 _40’ +4

02 —9
03 —2
04 —1
05 —18
06 —27
07 —2
08 —6
09 —10
10 —5
1 2
11 +¥, +ﬁ
3
12 +§
40
13 40
14 +10
2
15 +§
1
16 +m
5
17 Y
1
18 Y
18
19 ~ 55
48
20 +?

14, {2150 ARAVE g 823)
019,66,0
02©,6,06,0

030,066,
04 +3
05 +38
06 +8
07 +12
08 +60

09 +17
5
10 +2

11 +3
12 —18

13 —14

1
14 +€

15, BEiA] (2 gaxm)
01 —4, —20, —60
02 —2, —2, —50
036, 10, —160
04 —12, —4

05 +Z, —10, +11

06 —5.1, —10, +130

07 —65
08 —24
09 —130
10 +24
11 -9

12 -1

13 —37
14 97

15 -2
16 +314

C__m =A%y

)

OL 2F4>9} Hi4 (25 90%)

01 800 xa¥d

02 xx5¢

03 (ax6+bx5)4

04 (1000 X x+1500 %)
05 2% (64+a)cm

06 10 X x cm®

07%><a><5cm2

08 %(2+x) Xl cm’

09 100 X km

10 ¢ X3 km

80
11 TAIZ_P
12 LA
13 (200—90 x¢) km
14 (12—ax2) km
15%%

50
x+50

16 X100 %

17 gag

18 2a g

19 (1) 100X a+10xb+c¢
@5 (z+9)

02. A1 7129 A=k (28 922)

01 5x

02 —«x

03 24°

04—

05 0.1abc

06 b’

i3
rlu
oX.
a,
i)
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—p—

07 6xy

08 2ab

09 —2x%’

10 —62'y

11 —3a°b

12 2%’z

13 3(z+y)

14 —2a(x+y)
15 5a(x+y+z)
16 —(a+b)x
17 —2a+2(b+c)
18 32" +2(y—2)
19 4a—3(b+c)
20 —z+5(a+b)

21 7x%
1
22 ?(d“‘b_c)x
23 —4(a+b)x
1
24 gab(x-ky)

25 8xy+z
26 3a—5b
27 —ab+3x

28 2xy—Ty

03. WAl 7]13.9] ek

(@22 94%)

o
—r
S
ISk

abc

03 (—1)xaxb
04 a=b
05 z=3
06 a+~x

07 2xax(b—c)

08 5x (z+y)
09 (z—y)+3
10 axb—=-6

11y+3+x

133, 6, 1
149
154

16 16
171

18 —1
19 —2, —4,
20 —6
219

22 -9
23 -1
24 14
255
263
27 6
2813
2913

30 6

3215
334
34 —5
3525
36 36
37 23
38 —10
39 —1
40 —16

41 —5

12 (—1) xaxb=+2

31
a2 —3L

_ab
43 5_7

44 6 cm’
45 10 cm’

46 6 cm®

05, THEPAIR} ThEHA (22 1002)

01 (1)2zx, y
(2) 274

02 (1) —2q, b, —1
(2) 370

X 5
03 (1)7, Y

(2) 271

a

(2) 374

05 (1) —3a, —a
(@ a+7, —3a, b’—1, —a

06 (1) —y, £z

@ —y, 20-2+1, 2z,
z+y

07 (1) 0.2z, 16
(@ a+3, 0.2z, ax+by,
16
3

08 (1) —11, —az, —’

2 —11, —az, x;y

3,

’
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—p—

14 (1) —1

150
16 x
170
18 O
19 x
20 O

06. YA (g 102%)

O7. AT 22 34,

(B2 103%)
01 —7, =7, —l4x
02 24x
03 21a
04 —48a
05 —2x

06 —8a

4 4
07 ?, g, —8a
08 2x

09 —2y

WAL (1)

10 6a

08. AN 2] 4, WA ()
(B2 1047)
01—, 1
02 142+7
03 —3a—4
04 52—10
05 —2a—6
06 —6a+15
07 —x+3
08 2xr—1
09 —3xr—1
10 —3a—2
11 6y+2
12 —25a+20

13 —%, —%, —%, 4a—10
14 —2z+5

15 6x2+9

16 —4a—2

17 3a—2

18 —2y—3

19 9a+15

20 —2y+2

21 —20a—5

22 2xr—6

23 —15a+25

24 16x—38

09. T3 (7 106%)

01 —5. 7z
02 z, —4x
03 —2zx, %:c

04 —0.1x, —x

05 229} —z

06 329} —21, yoF —2y
07 a2t —2a, —5%+1
08 Sast —a

09 —4, 26

10 10a

11 4z

12 —z

13 94

14 —4y

x
15 =7

16 24

17 10, —6, 10
18 —7a+10
19 —5y+7
20 x—5

21 3y—3

22 —2a-+7
23 3a—3b

24 6x

10, YA Szt

(2 108%)
01 5x, 5x, 5x—5
02 5a—1
03 12x+7
04 5a—6
05 7a—2
06 —3y+12
07 7x+4
08 —3x—7

09 13a+4

10 —7a—3
a

11 7—7

12 8x+%

13 8z, 8x, —x+8
14 3x

15 —3a—3
16 6—11
17 —3x—2
18 —12y—7
19 5a+4
20 —2x+4
21 3y+10
22 8a+4
23 —x—10

19,9
24 —12a 16

254,9, 4,9, 9x—5
26 10x+18

27 —4a+9

28 7a+3

29 5y+11

30 4x—11

315, 5 —9+4
32 —3x+10

33 —8x+3

34 3a

35 —9y—26

36 4x+31

17 1
3712, 12, 5. 5

38 3r++
2
17 .7
39 6 a+ 6

2 5
40 Ed—g

o

e yy

1
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41 %x—% 12. UFAAL SFEAl (mo j4%) 08 —2a 14, oJ8} (2 119%)
17 17 01 09 y—5 012z, 8
42 —ﬁd‘f'ﬁ
02 10 £ 02 —1=3r—4x
10
438, 3z+1 03 3 03 —2x=1+7
110
44 7x+8 04 5 04 3+4x—7=0
12 —2y+3
45 5x—13 05 x Y 059—3=—2x
133, 3, 8
46 —x+13 06 06 —10+4=6x
_ 14 x=1
07 & 072, 6
08 1+ 15 2z=1
1L %1:! (o 19w 8 , 08 10z=-—10
01 x 09 O, 2, 5, ot 16 x=- 09 —22=—5
02 O 10 x 17 10, 10, —14 10 —dx=—12
110 - —
03 O 18 = 5 11 6x=12
s 6 120 19 =1 12 —2=9
13 x=2
05 x 20 x=2
14 x=1 15, AXMFAAL (22 1202)
06 O 21 —2, —2, —10
15 x=1 010, 2,0
07 (1) 3a+b 22 r=—6
(2) 2a—8 16 z=3 020
23 x=—6 03 x
08 (1) 13 172=1 ot o
(2)15—2 18 =3 B 04 x
256, 6, —5
09 (1) 2a—3 19(1)1 T 050
2 -
2 a+3 (2)5 26 r=6 06 x
10 (1) 5—2x 20 (1) —3 27 x=—17 -
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78 (+2.7)+(+8)=+(2.7+8)
=+410.7

s0(~F+{-—(E+D)-3

o (3{B)=(3 D
82 (—1.4)+(—3.9)=—(1.4+39)
=-53

83 (—8.9)+(—12.1)=—(8.9+12.1)

—21

oo (+-4)+(2)-+(4-2)+3

7 (42D

88 (+7.8)+(—5.6)=+(7.8—5.6)
=+22

89 (+9.1)+(—3.7)=+(9.1—3.7)
=+54

90 (+3)+(—25)=—(25-3)

o2(-4)+(+3)- (33

03 (-2)+(+3)=+(3-8)=+2

94 (—2.7)+(+3.1)=+(3.1—2.7)
=+0.4

95 (—4.31)+(+1.2)=—(4.31—1.2)
=—-3.11
2

96 (—§>+(+o.4):0

06. SATell gt At A e 572)

FiRp Ly =

06 (+4)+(+3)+(—4)
=(+3)+{(+4)+(—4)}
=(+3)+0=+3

07

—

+5)+(—10)+(+9)
(—10)+{(+5)+(+9)}
(—10)+(+14)=+4

08 (—=3)+(+7)+(—2)
(+7)+{(—3)+(—2)}
(+7)+(—5)=+2

09 (—4)+(+12)+(—16)
=(+12)+{(—4)+(—16)}
=(4+12)4+(—20)=—8

10 (+2)+(=7)+(+4)+(—3)
={(+2)+(+DO}+H{(=7)+(=3)}
=(+6)+(—10)=—4

(-2

15 (+0.9)+(—1.5)+(4+0.1)
=(—15)+{(4+0.9)+(4+0.1)}
=(—15)+(+1)=—05

16 (—4.2 )+ (+75)+(—3.4)
=(+75)+{(—4.2)+(—3.4)}
=(+75)+(—7.6)=—0.1

O7. §214-2] WA (5 503

02 (+4)—(+9)=(+4)+(—9)

—5

03 (+2)—(+8)=(+2)+(—8)
=—6

04 (+6)—(+1)=(+6)+(—1)
=+5

05 (+3)—(+7)=(+3)+(—7)

—4

06 (+12)—(+8)=(+12)+(—8)
=44

08 (=7)—(=9)=(=7)+(+9)
=+2

09 (=5)=(=3)=(=5)+(+3)

—2

10 (—=8)—(—12)=(—8)+(+12)
=+4

11 (=6)—(—3)=(—6)+(+3)
=—3

12 (—4)—(—24)=(—4)+(+24)
=+20

14 (+7)—(—4)=(+7)+(+4)
=+11

15 (+9)—(—2)=(+9)+(+2)
=+11

16 (+8)—(—5)=(+8)+(+5)
=+13

17 (+6)—(—14)=(+6)+(+14)
=420

18 (+9)—(—10)=(+9)+(+10)
=419

20 (—1)—(4+2)=(—1)+(—2)

—3

21 (—=71)—(+1)=(—7)+(—1)
=—38

22 (—5)—(+4)=(—5)+(—4)

=-9
23 (—2)—(+5)=(—2)+(—5)
=—7
24 (—15)—(+40)=(—15)+ (—40)
=—55
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28 (+3.5)—(+2.1) —38)—
=(+35)¥t321)=+1A AGiwiig)itiﬁzy:—g 14(2;>3(3)<§>
(1 3
s ~(+3)+(=3)+(+3)
29 (4 )=(+ 8>—(+1§>+<—%> 47 (—2)(%%(92%(%) RIS
24 ~ 10 2
8(-3)(B-(+4)
09 (B(r () | @DCIDD | 2D
L 2 3 3 3)
s 6 *%
s2(-B--B-B+) (-39
_ 1 ’
- e ~(2)+3)
1) (5 —(=2)+(=
33( ) <_ﬁ> :(+3)+(+2)+(5,)5) :<+%>+(_2>:7%
()} e 7 (s
34 (—15)—(—-0.7) 03 (=5)—(~8)+(+7) 21 31
=(=15)+(+0.7)=-038 i( D :(+1)+<+§J+<—§J
=(=5)+(+10)=+5 :<+g>+<_;):4rz
35(-5)(-9)=(-5)+(+3) | oa(rm-(+2+(+3 R
it A A
36 (—1)—(—L)=(-1+(+Z) 05 (—=7)+(+1)—(—3) (HS{)H5)
, — (=D (+1)+(+3) =(-I++n=+2
-2 =(=7)+(+4)=—3
38 +i)_<_L 06 (—3)—(+5)—(—4) 20 (:_(0*30);;1(* ) )(+(4)
10 10) =(=3)+(=5)+(+4) :(—2)+(+4ﬁ:+2A+£
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39 (+§)—(—§)—(+§)+(+§) i(_—1:>+<—z>+<—8> =(—9.4)+(+1.3)=—8.1
=+3 22 (+7.3)—(+24)+(—5)
08 (+7)+(+4)—(+10) =(+7.3)+(—2.4)+(—5)
40 (+1.8)—(—6.5) = -
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O O P O N B R P
o 2 i§:2;+(—2)+(+7) =(+1.2)+(— é7ﬁ:—55
3 = +(+7)=—1
- - 24 (—54)—(+10)+(—2.3)—(—3.7)
42(+%>_<_%>:<+%>+<+%> 1oiiﬁ25¢::?$:%?¥) :(_SA)+(_1?—23)+(+37)
:+%§ =(+15)+(—11)=+4 2(711ﬂ+%+87);*14 '
11 (+8)—(+10)+( - — =(— -
44(_%>_<+%>:<_%>+<_%) =(+8)¥t?1$%ii:;1(?2) 26 —2+10=(—2)+(+10)=+8
. =(+8)+(+6))+{(—10)+(~2)) | 2T ATH=(FHF(Z1)=—7
o =(F14)+(~12)=+2 28 —6+9=(—6)+(+9)=+3
45(=5)~(+5)~(-5)+(-3) 12 (+6)+(=7)+(+10)—(—4)
_ 2 = (+6)+(—7)+(+10)+(+4) 2 s =mn
3 =(—7)+(+20)=+13 30 —2—5=(—2)+(—5)=—7
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32 —54+3—8=(—5)+(+3)+(—8) (4% 5% 2X10)=+400 =(-5)x(+%)=-2

8 9
—(+3)+(—13)=—10 15 (43 L)oo o
33 2—5+4=(+2)+(—5)+(+4) A 21 (+57)+(- %)
=(—5)+(+6)=+1 =~ (G x8)=-T ~(+i)x ()=
ot | o) | m(e
_ _ 11 22
(—(—)7)(+(+)5>(——j =—(Ixixq)=—51 (2 )x(~2)—-
35 64+4—9=(+6)+ (+4)+(—9 5
e I R T O R
=(=H+ (=1 +(+10) 18 (+0.5) x(—1)x(-12) =(+H)x(+ )=+
=(-11)+(+10)=—1 :+<inxﬁ>:+i o —14—3)+<—%
B_20_ (B, (_20) >
* ’ <+3>+< 3> ' 25 —(—5)"=—(425)=—25 :<_%>X _1_96>:+_
s9 - 5=(+1H(-5)=—% 26 —(—10)=—(—1000) = +1000 25 (—2)+(—11)
o p DDt | oD | (DR
woford u Y BE | meed
RETR )
_(_7 -1
_< 6>+(H) 6 12, Q2140] WAl e 782) 27(+36)+<—%>
23t 19750 e Loz =8 =0 ~g)=me

(2R

9 3 3 12 L7} —20lBZ 4=—10
(-3 5
8 4 8 (5 LN\ 1
. = 3>X< 20)“L
44 —0.5+12=(—0.5)+(+1.2) 13 2a7} 10| BR a=— Y
ror 29 (+0.7)T<—T)

_ =1 __ 1 _ 7 5\ _
4511—2=(+11)+(—2)=—0.9 14 da7h —10182 o= =(+4 ) (—)=—1
46 —1.3+22=(—1.3)+(+2.2) 15 70.25:7%01_2% a=—A4, b:% 30 <+%>_<+%>

=409
axb=—4xp=—2 :<+%>><<+%>:+%
A7 4—35+7.7—2.8
=(44)+(—35)+(+77)+(—28) 3\.(,9
=(+11.7)+(—6.3)=+5.4 17<+8>'<+2>
(131 2)— 1 o Lol 58 .
48 —1.3—11-16 _<+8>X<+9) 12 8. AT B 20 AL e oo
=(—13)+(—-11)+(—1.6) 02 (—15) x (+3) = (+5)
: (-9
=—4 7 3 =(—45)+(+5)=—9
8\ _3\_ .6
—< 7>X< 4)—+7 03 (+6) % (—3) =+ (+9)
=(—18)+ (+9)=—2

5\.(, 1

10, Aol thgh A WA 2 73 19 +z>*<+7>

04 (=2)x(—4)+(=8)
13 (4+3) x (=2) x (=1) x (+5) =(+5)x+2=+3 =(+8)+(-8)=—1
=+ (3%x2%x1%x5)=+430

(_g>+<+i> 05 (—24)+(+4)x (+3)

14 (—4) X (—5) x (—2) x (—10) =(—6)x(+3)=—18




#Z1THRL 001032 20151012 32PMI°[ 7| 24 E;

06 (—36)+(—2)*x (+3) =(+2)x(+E)x (+o)=+22 14 241 (1) +(+ 2 ) x (==
(—36)= (4d) x (13) ( 3)( 5> 5 32 52] ( 125>
—(—9)x (+3)=—27 =5 H () < ()

07 (+2) x (—3)*+(—9) :%+<+%)X<—%>
=(+2)x(+9)+(—9) 14. {2150 APARE (2 g 822) 2 1 1
~ T =L (-2 )=++%
=(+18)=(—9)=—2 04 9— (—3) x (—2)'24 3 < 2) 6

08 (—2)°+(—4)x(—3) =9—(—3)x(—8)+4
=(—8)=(—4)x(—3) =9—(+24)+4
=(+2)x(—3)=—6 =9—(+6)=+3 15. B (g 84m)

09(_|_15)><( 2) (—6) 05 10_4X{2_(_3)2} 07{ _7)+(_6)}X5
=(4+15) % (+4) = (—6) =10—4x{2—(+9)} =(—35)+(—30)=—65
=(+60)+=(—6)=—10 =10—4x(—7)

=10—(—28)=+38 08 12x{3+(=5))
0 (—2°)x(+5)+(—2)° { ( =36+ (—60)=—24
_ N 06 7—{25+(—5)+4)
:E—z()));(ifi)':(tél) =7—((~5)+4) 09 10%((—9)+(—4)
: —7—(—1)=+8 =(—90)+(—40)=—130

12 (~5)%(—15)+(+%) 07 16+ (—8)—7x (~2) 10 (—24) X (=7)+(=24) X (+6)
s . (—2)—(—14)= =(— 2) (—7)+(+6))
—<—§>X(—ﬁ>x<+%)=+% e =(—24)x (—1)=+24

08 (—2)+(—3)*x8—10
13(+8)+<+%>><<—%> =(—2)+9%x8~—10 115x(—3)+(—2)x(—3)
. 5 10 =(— )+72 10 ={5+(—=2)}x(=3)
3. (_12 __9)3 09 (—=7)+=(—1)"+2x5 12 (—12) x +£+ _3

14 (+=)=
( 7> ( 35>X( ! =(=1)+(~1)+2x5 —(—10)5(4:;9))—(—4)]
=<+%>x<—‘;’—g>x(—8):+10 =74+10=17 B B

4 5
16\ . (o o L 101259+ 2 x 2 13[ _ﬁ>+<_§>}><45
15(+5>'( 2)X< 4) 15 26 - =(—12)+(—25)=—37
(16 (L)1) 2 12X g+EX2
<+5>X< 2>X< 4)‘*5 \ f 556 14 (—9.7) X (—9.6)+(—9.7) X (—0.4)
1 N =3t3=+3 =(—9.7)X{(—9.6)+(—0.4)}
16<*36>X<+T+(_12) s o ) =(—9.7)x (—10)=+97
! 18 1 —8) = (—2)*+{2—3%x (—1
*(‘%M*?)X(—l—z) =(—8)+4+{2—3x(—1)) 15(—2)xi+(—2)xl
R 3)7°11 3)7° 11
:+?10 =(—8)+4+{2—(—3)} 2 9 2
=(—8)+445 =(-Px(F+5)
17(—%>+(—2)3><<—%> CoEheEAs :<—%>><1:—%
s 1 8\ 5 125+ (—2))x7—(4+9)+(—3)
—<_T>X<_§>X<_€)—_§ =(54(—8))x7—(+9) = (—3) 16 (+3.14) x (+76)
=(—3)X7—(+9)=(—3) 4+ (+3.14) x (+24)
. 5 u 1 =(+3.14) X (+100)=+314
(2 () x(+ =% | 13 (=81~ x3+4)
+(—2)7
19%+(+3)x<—1—91> =(—8)+((—1)+{(—8) x3+4)
(.6 1 9 +(+4))
—<+€>x<+§)x<_F> =(—8)+[(—1)+{(—24)+4}
_ 18 = (+4))
25 =(—8)+{(—1)+(—20) = (+4))
e o/ v =(—8)+{(~1)+(—5))
20 §xZ+(—3) =(—8)+(—6)=—14

o



#Z 1T 001~-032 20151012 32PMI?[ 7| 25

—p—

( L, ZATSF A )

03. WA 712.9] 242 (2g 94%)

14 axb=3
ab

_ 1_ab
=axbXx 3= 3

15 x+yx(—2)
—rx-L x(—g):_Z_x
4 Yy
16 ax7=b
Ta

1
=aX7TX ——=——
“ b

b
17 6+-axb
6b

a a

18 yxx+(—5)
(-4 ) %

19 xXy+zXx

:nyX%szi

20 xX3Xy=2
_ 1_ 3xy
=xrX3XyX 2 5
21 axb+7xc

- 1 .= abc
=axbx 7 Xe= 7

22 r+10Xz+y
1 1 _ xz

=X —XzX — =
x 10 z y 10y

23 a+-bx(x+y)
:(ZX%X (x—f—y):a('rT_Fy)

245+ (x+y)+2xz

—5x toxz=—2 12,
x+y

1
x+ty

04. A9 Zh (22 962)

i

14 3xr=3Xx=3%x3=9
157—x=7—3=4
16 5x+1=5Xxx+1=5%x3+1=16

20—1

175

=(2xz—1)+5
=(2x3—1)=5

=5+5=1

18 —3x+8=—3xx+8
=—3X3+8=—1

20 3r=3Xx=3x(—2)=—6
21 7—x=7—(—2)=9

22 5x+1=5xx+1
=5%x(—2)+1=—9
2x—1
5

23 =(2xx—1)+5

=2x(—=2)—1)+5
=(—5)+5=—1

24 —3x+8=—3xXx+8
=—3x(—2)+8=14

25 a+b=2+3=5

26 3a—b=3x2—3=3

27 5a+2b—10=5%x2+2x3—10=6
28 ab+7=2%x34+7=13

29 &'+ b*=2"+3'=13

30 & —ab+8=2"—2x3+8=6

31 a+b=44+(—3)=1

32 3¢a—b=3%x4—(—3)=15

33 5a+26—10
=5X4+2x(—3)—10=4

34 ab+7=4x(—3)+7=—5

35 &’ +b'=4"+(—3)’=25

36 ’—ab+8=4"—4%x (—3)+8=36
37 3a—7=3%x10—7=23
383¢—7=3%(—1)—7=—10
393¢—7=3%x2—7=—1

40 3¢a—7=3x%x(—3)—7=—16

41 3a—T=3x2—7=—5

3
42 30—7=3x(—1)-7=-3L
43 S:%xaxb:%b
44 %b: 6;2 =6(cm”)
45 %b 4;5 =10(cm”)
46 %b:% x % X %:6(sz)

07, AxAlgt 0] ZAT LA (1)
(= 1035)

02 3rX8=3xX8 X xr=24x

03 (—3)x(—7a)
=(—3)x(—=7)xa=21a

04 6ax(—8)=6x(—8)xa=—48a

05 8x X (—%)zs X (—%) Xx=—2x

06 (—12a) x%:(—lz) x%xa

=—8a

08 14x+7=14><%><x:2x

09 10y+(—5)=10x<—%>><y

10 (—160)+(—3)
:—16><<—%>><a=6a

10. LdxtA]e] SRl AT (=g 108%)
14 (6x+1)—(3z+1)
—6x+1—3xr—1=3x

15 (5a+2)—(8a+5)
=ba+2—8a—5=—3a—3

16 (3b—4)—(2b+7)
=3b—4—2b—7=0b—11

17 (—2x+1)—(x+3)
=—2xr+1—x—3=—3x—2

18 (—7y—3)—(5y+4)
=—T7y—3—5by—4=—12y—7

19 (4a+5)—(—a+1)
—4a+5+ta—1=5a+4

20 (3x—4)—(5x—38)
=3r—4—5x+8=—2x+4

21 (y+7)—(—2y—3)
=y+7+2y+3=3y+10

22 (7a—2)—(—a—6)
=7a—2+a+6=8a+4

23 (—Z—3)—(3+7)
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5 \_ 1

24 (4a 16) (16a+ 4>
R _1_ _9
4a 16 16a 1 12a 16

26 3(2x+5)+ (4x+3)
=6x+15+4x+3
=10x+18

27 —2(3a—2)+(2a+5)
=—6a+4+2a+5
=—4a-+9

28 (4a—3)+3(a+2)
=4a—3+3a+6
=7a+3

29 —(y—5)+6(y+1)
=—y+5+6y+6
=5y+11

30 (x+1)+6<%x—2)

=x+1+3xr—12
=4x—11

32 3(x+5)—(6x+5)
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=—3x+10

33 —2(3x+2)—(22—7)
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=—8z+3

—p—
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6 6

_2, 5
3 6
20—4  x+2
3 6
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o 6 o 6
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42 at3 5a—2
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=7x+8
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46 [ ]=(2x+10)—3(x—1)
=2x+10—3x+3
=—z+13

12. A, B e 14z

102%x2—7=—3+2

35 — Lo IZ%

7
1,12
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Sox=—12
36 8x+3=11
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1 09 3x+5=—2x
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40 5 T3
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3xr=3
Sox=1
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ldx=—14
Sox=—1

14 0.52—0.8=—0.3x+4
5xr—8=—3x+40
8r=48
S.x=6

15 0.09x—0.04=0.08—0.1
9xr—4=8x—10
Lx=—6

16 0.2x4+0.1=0.6+x

2x+1=6+10x

—8x=5
D
Lx=—3g

17 0.3x4+0.2=0.22x—0.3
3x+2=2x—3
L x=-—5

18 x—1=0.42—0.8
10x—10=4x—38
6xr=2

=L
T3
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19. Z3FgH GARPEAAIL Fol (3)
(B2 126%)

2 -§+4=-3

—3x+8=-—10

—3xr=—18

LS. x=6

L _X_
03 =39 1

2xr=3x—6
—r=—6
L x=6

05 —Z+1=2

06 Sz++=5
3r+1=10
3r=9
Sox=3

08 fz—1=1u+1
2x—6=3x+6
—x=12
Lr=—12

09 sz +i=42—7
2x+9=3x—6
—xr=—15
Cox=15

10 %x—%:%xﬁL
6x—5=5x+5
Cox=10

1
3

2.3 1 1
11 g.r—z— 21‘ 4
8xr—9=6x—3

2xr=6

Lx=3

3x+16=6x—38
—3r=—24
CLx=8

3 g1
14?x 3—6x+1

9r—18=x+6
8xr=24
SL.x=3

1,2 1 .1
15—31’4'?— 41'+3
—4x+8=—3x+4

—r=—4
Cox=4

16 —%x—f—%: —%x—%
—2x+5=—4x—9
2x=—14
Lx=—7

111
173‘1‘4‘?—21' 1

2x+2=5x—10
—3x=—12
Cox=4

18 *%x—lzéx-&-%
—3x—9=x+3
—4x=12
Lrx=-—3

20, B3 WALl Eol ()

(=2 128%)

02 —0.2(3xz+5)=—0.3x+0.5
—2(3x+5)=—3x+5
—6x—10=—3x+5
—3x=15

Lx=-—5

03 0.52+0.7=0.2(4x—1)
S5x+7=2(4x—1)
S5x+7=8x—2
—3xr=-—9
SLx=3

05 Fa="(z—1)
4r=3(x—1)
4x=3x—3
Lx=-—3

2 _ 3 1

—10(x+1)=—9x+5
—10x—10=—9x+5
—x=15

Lx=—15

07 2(x+0.4)=1.52—0.2
20(x+0.4)=152—2
20x+8=15x—2
5x=—10

Lx=—2

08 0.2(xr—1)=0.3x+1
2(x—1)=3x+10
2x—2=3x+10
—xr=12

Lx=—12

09 —0.1(5x+4)=0.3(x+4)
—(5x+4)=3(x+4)
—b5xr—4=3x+12
—8x=16
Lx=—2

10 0.8(x—2)=0.1(3x+4)
8(x—2)=3x+4
8xr—16=3x+4
5x=20
Sox=4

11 (32— 1) =+(3z+1)
2(3z—1)=3z+1
6xr—2=3x+1
3xr=3
Lx=1

12 0.3x=0,5x—|—%
3xr=5x+4
—2x=4
Lrx=—2

13 %—o.z(ﬁs)zl

10x—6(x+5)=30
10x—6x—30=30
4x=60

Sox=15

14 %+%:0.3x—|—0.4

2x+5=3x+4
—xr=-—1
Cox=1

15 0.51’—2:%30

2r—8=x
CLx=8

Ee
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—p—

16 %(x+5):0.5x—0.2

2(x+5)=5x—2
2x+10=5x—2
—3xr=—12
Sox=4

17 0.5(x+1):%(x+4)

2(x+1)=x+4
2x+2=x+4
SLx=2

1 go=1
183;6 0.9—2x
2xr—9=bx
—3xr=9

Sox=4

x+5 | 3x—4
4 + 5
5(x+5)+4(3x—4) =60

5x+25+12x—16=60

21 =3

17x=51

Sox=3

r—1 4x+1
22 5 3 0

3(x—1)—2(4x+1)=0
3x—3—8xr—2=0
—b5x=5

Lr=—1

x+2 |, 2x—1
4 + 3
3(x+2)+4(2x—1)=24

3xr+6+8xr—4=24

23 =2

21, QxpeRgALe] B2t oA

o o

EE 131%)

02 2+a=—4-+5
Sa=—1

03 —2+9=4+a
Soa=3

04 —8—1=3(4—a)
—9=12—3a

2]
dr=4 .. x=1

07 W74 20+15=95 &4
20=—6 . .x=—3
r=—32 YA 4(x+3)=x+a°l
gdstH
4(—343)=—34+a ..a=3

22, YAIALOl FE (2 132%)

03 2x+1=45
2x=44
CLx=22

09 10x+4+18=40+x
9xr=18
SLx=2

10 _
11 oo X 300=30(g)

14 3000=8(300+x)

19 y=axol x=1, y=55 s
5=a ..y=b5x

20 y=axoll x=—6,y=—6= HYsHH
—6=—6a,a=1 .. .y=x

21 y=ax® x=—3,y=—9E HYstH
—9=—3a,a=3
SLy=3x

22 y=axol x=5, y=—10=% t4std
—10=5a, a=—2
SLy=—2x

23 y=axol xr=—8, y=4E Y35t

—— — 1
4=—8a,a= )
Ly= —ix

Ly 5

25 y="r z=1,y=5% Hstul

26 y="ro 2= —6,y=—6Z U3t

—a = =36
6—_6,4—36 LY==

27 y="o 2= —3,y=—95 g3t

—9=""1,a=21 .. y==2L

28 y="rol 2=5,y=—10& U3e

4 4=—50 .. y:—@

—1023, x

29 y="rol 2= —8, y=4% 3t

1z=22 3000=2400+8z 1= a=—3 cy=—32
L r=2 —82=—600 *
Sox=175
25 2r=4 6 02, g @2 141z)
Cox=2 16 Too X 150=9(g)
02 f(1)=12x1=12
27 4(x+1)=4 9
Ax+4=14 9 15— X100=9 03 £(0)=12x 0=0
4x=0 900=9(150—2x)
o 04 f(—1)=12x(—1)=—12
Sx=0 100=150—zx f=1) (=1)
28 3(52+1)=18 x 05 f(—4)=12x (—4)=—48
152+3=18 1 1
152=15 06 f(?)‘” X =4
Sox=1
08f(1):%:12
A ey 29
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09 f(12):%:1

10f(—1)=i—21:—12

1M A-H="2=—3
asth)- ()
:123>< 3=236

14 f(1)=—3x1=—-3
15 £(0)=—3x0=0
16 f(—1)=—3x(—1)=3

17 f(—4)=—3x(—4)=12

ved=

20 f(1)=9x1—7=2
21 f(0)=9x0—7=—7
22 f(—1)=9x(—1)—7=—16

23 f(—4)=9x(—4)—7=—43

24f<%):9x%—7:—4

_1 _ C
26 2a—3 S.a=—6

27 —ta=2 a=—1

2

_24 g 24
32 y= 7 +1=30°JA 7 2
Coa=12

_24 . 24
33y= 7 +1=20JA4 . L
C.a=24

34 y=2r1=—1014 2=
Soa=—12

35 y:2a—4+1: — 504 274: —6

—p—

36 y=2p1=0014 2= 1
Soa=—24

38 2a4=6, a=3°|22 f(x)=3x
S f(=3)=3x(—3)=—9

39 10a=—4, az—%ol_‘:_'i
fla)=—2

.'.f(—5):—%>< (—5)=2

40 3a=—4, az—%ol_‘:'_i

flo)=—4
- £(6) :—%x 6=—8

42 5=6, a=120]22
12
fla)==——

: _ 12 _
S flxe)= 3= 4

43 1"—0:4, a=400|8% f(z)= %

A== — g

—5

12

44 o =—4,a=1201B8 flx)= "
Al6)=—-=2

03, &AM} FHE (22 145%)
07 (2)3x4=12

08 (2)3x3=9

09 (2) 5 x(3+6) x4=18

1
2

1 _
10(2)7><4><3—6

11 (2)%><6x3:9

12(2)%x5x4:10

06. 4] tholE (e 150%)

118x2=16

12 %XSXZIS

17 4x6=24

18 %x4><6:12

08. y=ax (a+0) 2 2eZ (22 153%)

—_341—_3
15 b= 2x1— 5

3 =
16 b= 2><4— 6

17 b:—%X(—z):s

_ 3 _
18 b——?x (—10)—15
19 12:—%><b L b=—8

20 —21:—%xb L b=14

22 y=ax°| (3,4)5 HYstd
4=3a, aZ% y:%x

23 y=ax°) (—2,5)E st
5=—2a, az—% Coy= —%x

24 y=azx°ll (7, —7)& ALt
—7=7a,a=—1 . y=—x

26 y=ax°l (2, —6)< HU3tA
—6=2a ..a=-—3
y=—3z°l| (5, b) & tHUstA
b=—3x5=—15

27 y=ax°ll (4, 2)& HYsHH

2=4a a=%
y=5z (—10,0)5 st

1) =—
b—zx( 10)=—5

09 y=-7 (a#0) 9 2 (¢ 1572)

09 b=21 =24
10 =2 =8
16="2=—12
125=-20=—4

o
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—p—

_2
13 6= A S b=4

14 —3=-24

3 Sb=—8

16 y=-2o (=3, —3)& tjIshel

__a _ )
3—_3,4—9 Ly=

y="2l (3,6) % B3t
b=4

21 y="20] (=5,4) 8 st

_a
4 —5

y=—220] (—10,5)& dhIspa
b=2

Soa=—20

23 (1) y=—2x°l y=10< st
10=—2x
S.x=—5 ..P(—5,10)

@) (—5,10)& y="°] hJ3te

-2

5 Coa=—50

25 (1) y= 2ol y=6 Tt

_ 20
z
. P(2.6)
) (2, 6)2 y=axol Yz
6=2a ..a=3

6 Cox=2

10. ¥40] EE (22 161%)
02 y=4%x15=60(km)
03100=4xzx ..x=25(&)

04 Ag 1AF9] 71482 70090 B2
y=700x

05 y=700 X 12=8400(%)

06 14000=700 Xz .. z=20(%%)

08 y==2x 6=4(8)

09 10:%><x r=15(%)

11 y=4x8=32(L)
12120=4xzx .. z=30(&)
14 y=25%10=25(cm)

15 10=25%xx .. x=4(g)
17 y=12x25=300(km)

18 60=12xx .. x=5(L)

20 y= oy =2(2D

21 3=12 - z=80(km/h)
22%><:C><y=30 .'.y:6—£
23y:%=5(cm)
2410=%0 - z=6(cm)

_72_

26 y="2=4(2)

273="2 - y=2()
X

29 y=8=152)

30 10:% L 2=6(%)

oX

_,
)

=

wx
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